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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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1. (1) What is Schedule ?
ST RN Y ?
(i) Differentiate between positive and negative
correlation.
YATCHE TA RUNCHE HWeHwrY HoOSTWR TR
SIS |
(i11) What 1is the meaning of symmetrical
distribution ?
TAfAq fawo & &9 F wEen § 2
(iv) What is a percentile in a data set ?
fort 221 ¥ F wEE F B ¥ 2
(v) Explain the difference between discrete and
continuous data.
Tfed 3R Tad B & o™ ST i TI HifoT |
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(vi) Define ‘skewness’ in a distribution. 4. Calculate the geometric mean of the data set :

faqror & ‘fawmar’ =1 aftanfoa swifsw)

(vii) How 1s the interquartile range (IQR)

4, 16, 64

T YT & SAMHAE HIET i UM HIST ¢

calculated ?
gEEeiEd 3 (IQR) &1 TUMT &y &1 WKl & 2 4, 16, 64

Section—B 4x7=28 5. Calculate the mean from the following table :
(Short Answer Type Questions)

. Marks No. of Students
Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks. 1—5 7
are—d 6—10 10
(g T q99)
ot - fFl 9I® wvl & S TNTI AW ST SW F =15 16
sfysham 200 vt H uREifaa wifSw g 9= 16—20 32
7 3% A )
, , , 21—25 24
2. How 1is the Pearson correlation coefficient
calculated and interpreted ? 26—30 18
foords Fegwry TUIE w1 UM IR A & Hi 3135 10
St § 2
_ _ _ 36—40 5
3. Describe the different types of index numbers.
& & fafe=1 TRl &1 9uiF it S !
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frfafea arelt 9 99=R |18 F| Sifeg 9. What are the characteristics and applications of

HTeTeh BEE B G the binomial distribution, normal distribution and
1—5 7 Poisson distribution ?
6—10 10 foue faawor, @M= faaor @ik aigem faawo =t fagoand
11—15 16 3R AT R T ?
16—20 32 Section-C 2x14=28
2125 24 (Long Answer Type Questions)
26—30 18 Note — Answer any two questions. You have to delimit
3135 10 your each answer maximum up to 500 words.
3640 5 Each question carries 14 marks.
gus—H
41—45 1
(& s ww)

6. How does skewness impact the mean, median and

mode of a distribution ? - A F TR (| 39 3 IR AR

500 vissl H g HIfT)| 9k U9 14 36 T S
fowmar famor & wren, wiftasdr iR agas w1 w9
gt w ¥ 2 10. Calculate Karl Pearson correlation coefficient

: : . between X and Y f the following table :
7. Write a short note on Regression lines. W an rom the JoTlowlnis table

T 3@l W uw oy fewoi fafen | X Y
8. What is interpolation and how does it differ from 60 67
extrapolation ? 62 63
SHAAETUE M § 3R I aRrvH ¥ ®9 i @ § 2 65 65
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67
68
69
70
72

68
72
72
69
71

frfafea afasw = Tg@a@ 9 X @ Y & 959 &

T o1 Teawry e 1 HISY

X Y
60 67
62 68
65 65
67 68
68 72
69 72
70 69
72 71

11. What is the difference between primary and

secondary data ? Explain the different methods for

collecting primary data and compare their merits

and demerits.
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12. What is regression analysis and why is it used in
Statistical Studies ? Explain the significance of the
regression coefficients (slope and intercept) in a
simple linear regression model.
g favermm w=n € iR wiferwE steaTHl | gheh
ST F foRa ST § 7 U Wa e gfem diew
T IR O (T SR STEUEA) & He i S
HIfST |

13. Prove that :

b+ c)2 a? a®
b? (c+ cz)2 pr = 2abc(a+b+ c)3
c? c? (a+ b)2

fag wifsT .

b+ 6)2 a? a®
b? (c+ cz)2 p? = 2abc(a+b+ c)3
? ? (a+ b)2

EC-05/8 (8)

TT-308



